L.s2.1t[{5]*0.5 82 L5
| t[ ] —I Entries 38004
- Mizan 758
4000 — RMS 5.082
3500
3000
Iﬁ'l]l]:— I
2000 1
1500
1000
s00
- | | |
'?3[! I IT:"EEIrI Ii:'ﬂ'ﬁ I Ii:'ﬂlﬁlv D TYs  Ta0
L.s2.1t[5]-L.s2.rt[5])*0.50 52_diff_5
| l: ts) 5) I Entrles 38004
- Mean 11.65
- RMS 1.46
G000 —
5000
4000 —
3000~
2000
1000 —
_fﬁlll_kllll&llll Iilﬂllll |“|||||||||3“

[L.s2.r[510.5 | SZ L E

Entries 38004

000 Mean T46.3

- RMS 5.051
4000 —
3000 —
2000 —
1000 —

'?:HJ T35 T40 T4E THO

[{LsZ.It5*L.s2.rn[5]F0.25 |

765 TE0 Tes TVD TVE THO

GO0

S0

4000

S0

2000

1000

e

750

755 Ta0

a2 time_5

Entries
Mean
RMS

30004
T52.1
5.025

T75  TED




